


SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q1. One of the diagonal of a rhombus Is 70% of the other diagonal. What is the ratio of area
of rhnombus to the square of the length of the larger diagonal?

Q‘oﬁgna%gmwwﬁw B 70% & | THAHSI b SAHd BT ds [APHUl D
cIaTg o o I 3{UTd foba11 82

(a)3:10(b)3:20(c)7:20(d)7:10
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2. The length of diagonal of a square is 9¥2 cm. The square
IS reshaped to form a triangle. What is the area (in cm2)of
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(a) 67 (b) 97 (c) 127 (d) 15x
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Q3. A copper wire is bent in the form of an equilateral

triangle, and has an area 121v/3 cm2 . If the same wire is
bent into the form of a circle, the area(in cm2) enclosed by
the wire In

U%h did & dR @l T JHAIE FAYS & ¥0 H AlST oIdl 6,
3R STHT QB 12143 TR g1 TfE I IR B U I
%? %0 H HISI STdl g, dl dR GRT R 47 8% d (9,112

a) 364.5 b) 693.5 ¢) 346.5 d) 639.5
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Q4. An equilateral triangle of side 6¢cm
nas Its corners cut off to form a regular
nexagon. Area (in cm2) of this regular
nexagon will be ?...

6 AT YTl dTct Ueh JHETE Y &
D1 BICH U HIAHT TS 1
STal 8 | 39 fHafid Yeys &f 85the

(T2 H) g
) 3v3 b) 3V6 ¢) 6v3 d) 2
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5. The area of an equilateral

triangle is 25v/3cm2. What is the
perimeter of the triangle?
Uh HH@II%ﬁ S BT &FAHT

25v3cm2 & | FAYS &1 gRATY fob -1
gId1 872..

a) 10cm b) 20 cm ¢) 30 cm d) 40
cm




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q6. A circle Is circumscribed around
an equilateral triangle of side 3 cm.
What Is the area of the circle ?

Uch 9 3 AT YTl dTel Uh JHTE
BYSt & IR} 3R uReg g1 3 &I
AAHA T 82

a) V31 b) 31 ¢) 331 d) 9m




SSC CGL/CHSL TIER 2 (CRASH COURSE)

/. If the altitude of an equilateral
triangle is 12V3 cm, then its area
would be

gfe, T gHETE FAYS oI SHaTs 1243
991 g, dl 39T &3%hd 8N
a) 12cm2 b) 144+/3cm2 c¢) 72cm2 d)
36v3cm?3
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8. A wire of length 44 cm Is first
bent to form a circle and then rebent
to form a square. The difference of
the two enclosed areas Is...

44 U a1 Ueh IR Ugd Uh d1
ST & ferg ge1 g & 81k fthx
Uh 7] §14 b felg FehaT g1 Gl
T &3 BT 3R © a) 44 cm2
b) 33 cm2 ¢) 55 cm2 d) 66 cm?2...
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9. On decreasing each side of an
equilateral triangle by 2 cm, there is a
decrease of 4V3 cm 2 in its area.The
length of each side of the triangle is...
Uch qHdTg AYS Di U Yol H 2 It
P HH DA |, IYP &AHd H 443
AT 2 B HHI B 8 | FYST BT TP
YST &1 13 ..

a)8cmb)3cmc)5cmd)6cm...




SSC CGL/CHSL TIER 2 (CRASH COURSE)

10. The radius of a circle Is a side of a
square. The ratio of the areas of the circle
and the square IS
Uh g %ﬁ\:ﬂl Uch 9] 1 Tdh Yol Bl
g1 g IR I & &AHdl BT AU 3...
a)l:wb)w:1c)m:2d)2: ...




SSC CGL/CHSL TIER 2 (CRASH COURSE)

11. The diagonal of a square Is equal to the
side of an equilateral triangle. If the area of
the square is 15V3 sq cm, what is the area of
the equilateral triangle?

U g7 &1 f[ahul JHAEE FYHS Bl Yol &
SRR sldl%lqﬁaﬁgl &Elic ?3?ﬂf

41 8, ) GHETg AYS &1 &A% d ol
gITI?

a) 45/N2 sq cm b) 45v2 sg cm ¢) 45 sq cm
d) 45/2 sg cm...
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12. A farmer's land is In the shape of a trapezium which has its
parallel sides measuring 2.56 yards and 3.44 yards and the
distance between the parallel sides in 1.44 yards. The cost of
ploughing the land is Rs 1800 per square yard. What amount will
(In Rs) have to be spent in order to plough the entire land?

U fhar ®T HfH T JHTH TAGHS o SHTHR Bl Bl
I\rI{-qv IHIldR \rI1256‘ I{344J I{144‘\r|é[
AR Y& & ol ﬁ@l ﬁ SISKSEIR q"f@?ﬂ‘s‘ 1800 30
cri%raﬁmr% fopat AT 8RTT (3T H) TR STHIA SfiaH &

T BT T2
() 3672 (b) 6732 (c) 7776 (d) 8214
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Q13.The sum of area of a circle & area of a rectangle Is equal to 2136 sq.
cm. The diameter of the circle Is 42 cm. What Is the difference between the
circumference of the circle & the perimeter of the rectangle, if the breath of

the rectangle IS 30 cm?
% T b AABA AR U 31Td o SAHA BT AN 2136 I JH! o SRTER

%IQTICOIOH%IM@T?[ | Ife 3Mad I AISTs 30 TH g, I g1 P g
3R 3{1ad o1 URIY & ol T 3ieR 82
(a) 42 cm (b) 22 cm (c) 30 cm (d) none of these
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Q14.The diagonal of rectangle which length 12 cm and breadth 5 cm are
equal to hypotenuse of a right - angle isosceles tringle. Find the area of
rectangle is how much more than ( in cm sqg.) that of area of right - angle

Isosceles tringle?

3(Tad b1 [qh Ul St Ty 12%@?%@1‘5‘5%% Uch, e

qrfgaTg Yl & Bl s RIS g1 31 HIfoTE b 3MTad ©

JHH 0T qHiGaTg FYS & &A% d I fdhd-r ied

Ay

e (@Tﬂ?ﬂff{) %‘?

(a) 16.75 (b) 17.25 (c) 17.75 (d) none of these

ARELAN
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Q15.Breadth of a rectangular park is 12m and ratio
of area of rectangular park to perimeter of
rectangular park is 42 : 11. If radius of circular park
IS equal to length of rectangular park and cost of
fencing circular park is Rs.20/m, then find total cost
of fencing circular park.

Uh 3MIdIBR Ulh Bl drelg 12 HieX g 3R
ATHR Ul b &FABd 3R MAdBR UTh Bl
g BT SUTd 42:11 8| Tf MATPR Jrep Bl
ST 3MIATRR UTh Bl GdTs o SRR § 3R
AR Ul D1 §18 T &I dNTd 20 UT/HIC
g, dI MATHR UTdh &l S8 T DI Sl ANTd 14
DIT|

(a) Rs.2250 (b) Rs.2760 (c) Rs.2800 (d) none of
these
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Q16.Radius of smaller circular park is 60 m and area
of bigger circular park is 36 (1/ 9) % more than area of
smaller circular park. If side of a square park is half of
the radius of bigger circular park and cost of fencing
the square park Is 16 per m, then find the total cost of
fencing the square park?

SIS TMIATHR Ul P AT 60 HieR § 3R §8
MATHR Uleh BT &AHd Bic MATDR Ut & ATHd
T 36 (1/9)% 3HfeH g | Tfe Th THR UTeh BT Yol
g MATBR Ul &1 (Al oI 31eh § 3R TIHR
Ul 1 &g M bl AN 16 Ufd ¥ Hlex 8, dl
JHR UTdh D1 1S T DI pd ANTd JTd PIoTd?
(a) 2200 Rs. (b) 2240 Rs. (c) 2280 Rs. (d) None of
these




